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Write a program that reads a sequence of years and, for each one, prints if it is a leap year or
is not.

A leap year is a year that has 366 days. After the gregorian reform are leap years the multi-
ples of four that do not end with two zeros, and also the years ended in two zeros such that
the number without the two final zeros is divisible by four.Thus, 1800, 1900 although being
multiples of four, were not leap years; however, the year 2000 was a leap year.

Input

Input is a natural number y between 1800 and 9999.

Output

For each year of the input, print “YES” or “N0” in a line indicating if is a leap year or is not.

Sample input Sample output
2006 NO
1992 YES
1900 NO
2000 YES
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